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June 2017:
QUESTION 3

Given the quadratic sequence: 0; 17; 32; ...

3.1 Determine an expression for the general term, 7,,, of the quadratic sequence.

32 Which terms in the quadratic sequence have a value of 567

W 1%
33 Hence, or otherwise, calculate the value of 37, -7, .
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First differences:  17: 15
Second dafference: -2

T,=an’ +bn+c
e second difference ~ 4
= - =

3a+b=17
-1)+b=17
b=20
a+b+c=0
~14204¢=0
c=-19
T.=—n"+20n-19
Q3.2
56=—n"+20n-19
n =20m+75=0
(n=15)n-5)=0
n=5or n=15

(4)
(3)

(4)
(1]



Q3.3
£

=T, +T,
_‘-Ig _rl

=T,

15
_Z];

nell
+T.‘+T.+T-+Tu—7'u-7§:-7n"fu-3
JHT =T )+ (T =T, )+ T,

because by symmetry I, =1, . I, =1,, ...

T,, = ~(10) +20(10)-19
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il Without using a calculator, determing the value of: Z_]E_
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EXAMPLE:

1.1 Writein Y notation ie.)  general term

3,7;11; to20terms

a=3 d=4

T,=a+(n-1)d
=3+(n-14
=3+4n-4
=4n-1

20

> 4k -1

k=1

1.2 Writeinz notation

3:6;12 to 20 terms
a=3 r=2
T, =ar""

n =3(2)""

20 k-1

I
612
3.r.11
3'6'12
i 4k —1
= 3(2)7
March 7

3.2

Determine the value(s) of x in the interval xe[0

-1 : 2sin3x : 5 ... will be arithmetic.

:90°] for which the sequence
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Q3.2

—1 :2sm3x ;5.
2sm3x+1=5-2smix

dsmix =4

sim3x =1
Ax=90"
x=30"
May-lune 2019
2.2 Given a geometric sequence: 36 : -18 : 9 ;...
221 Determine the value of r, the common ratio.
. g
2.2.2 Caleulate n 1if T =——
' 4096
223 Calculate S,

T +T+T +T; +...+ Ty

224 Caleulate the value of
T,+T,+T, +T; ...+ Ty
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Q2.2.1 Q223
—18 1 §omal
F :—:—: -r
36 2 36
02.2.2 1 “y
1 =1 \ 2
F 8 :36[ - =24
i i Q2.24
9 =;€;|'_l tn T,+T;+Tg+T, +...4+ Ty,
4096 2) T,+T,+Tg+T +...+ Ty
1 ! a+ar’ +ar' +..+ar™
16384 =| 2 ar+ar’ +ar’ +..+ar*®
q4 -1 _a+art+art + . +ar™
|—% =|—%F ra+ar’ +ar* +...+ ar™)
2 ) L2 l
ld=n=1 =.;
n=135
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